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VI Semester B.Com. Examination, May/June 2014
(Repeaters)
(Prior to 2013-2014)
Commerce
Paper — 6.3 : MANAGEMENT ACCOUNTING

Time : 3Hours Max. Marks : 90

Instruction : Answers should be either in Kannada or English.

SECTION-A

1. Answerany 10 sub questions. Each sub-question carries 2 marks : (2x10=20)
a) State any two objectives of management accounting.
b) What is external analysis ?
c) State any two limitations of financial accounting.
d) What do you mean by Trend Analysis ?
e) List out two merits of ratio analysis.
f) Give the meaning of reporting.
g) What is fund flow statement ?
h) What is Cash Flow Statement ?

i) What is current ratio ?
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j) Gross profit of a firm is 25%. Sales is Rs. 1,00,000. Find out cost of goods

sold.

k) Gross profit is Rs. 1,60,000; operating expenses — Rs. 50,000;
Taxes — Rs. 10,000; owner’'s fund — Rs. 2,50,000. Calculate return on

proprietor’s fund.

) Current ratio 2.5; Acid test ratio 1.5; Stock Rs. 1,50,000. Calculate net

working capital.

SECTION-B

Answer any five questions. Each question carries 5 marks. (5x5=25)

2. Prepare a common size income statement

Particulars 2012 (Rs.) 2013 (Rs.)
Sales 1,00,000 1,50,000
Cost of goods sold 60,000 75,000
Admn. expenses 15,000 22,500
Selling expenses 10,000 17,500
Net profit 15,000 35,000

3. Bring out five differences between management accounting and financial

accounting.
4. Briefly explain any five limitations of Management Accounting.

5. Briefly explain various types of analysis.
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6. What are the objecﬁves of management reporting ?

7. From the following Balance Sheets prepare a schedule of changes in working

capital :

Liabilities 31-3-13 31-3-14  Assets 31-3-13 31-3-14
Rs. Rs. Rs. Rs.

Capital 80,000 85,000 Land&building 50,000 50,000
Profit & loss a/c 14,500 24500 Plant & machinery 24,000 34,000
Creditors 9,000 5,000 Stock 9,000 7,000
Mortgage - 5,000 Debtors 16,500 19,500
Cash at bank 4,000 9,000

1,03,500 1,19,500 1,03,500 1,19,500

. Profit & Loss Account of Atreya Ltd. is given below :
Profit & Loss A/c for the year ended 31-12-2013

Particulars Amount (Rs.) Particulars Amount (Rs.)

To Opening stock 2,00,000 BySales 16,00,000

To Purchases 12,00,000 By Closing stock  3,20,000

To Admn. Expenses 1,20,000 By Dividend 4,000
To Selling expenses 80,000- '
To Financial expenses 40,000
To Loss on sale of assets 4,000
To Net profit 2,80,000
19,24,000 19,24,000

Compute : Administration expenses ratio, selling expenses ratio, financial
expenses ratio and cost of goods sold ratio
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9. Calculate cash from financing activities from the following details :

Particulars Amount (Rs.)
Issue of equity shares 4,00,000
Issue of debentures 2,50,000
Redemption of preference shares 50,000
Purchase of furniture 45,000
Sale of investment 23,000
Dividend paid 22,500
Interest paid 3,200
Repayment of bank loan 15,000
SECTION-C
Answer any three questions. Each question carries 15 marks. (3x15=45)

10. The Balance Sheets of Santosh Ltd. as on 31-12-2012 and 31-12-2013 are as

follows :

Liabilities 2012 2013 Assets 2012 2013
Rs. Rs. Rs. Rs.

Preference share capital 1,20,000 1,80,000 Land & building 80,000 1,23,000

Equity share capital ~ 1,50,000 4,00,000 Plant & Machinery 3,34,000 6,00,000

Profit & Loss a/c 14,000 18,000 Temporaryinvestments 1,000 40,000
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Long term loans 1,15,000 1,30,000
Bills payable 2,000 -

Sundry creditors 12,000 4,000
O/S expenses 22,0'00 10,000

Proposed dividend 10,000 90,000

4,45,000 8,32,000
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Stock 10,000 25,000
Book debts 4,000 8,000
Prepaid expenses 1,000 2,000
Cash & bank 8,000 30,000

Preliminary expenses 7,000 4,000

4,45,000 8,32,000

Prepare a comparative Balance Sheet and comment.

. State with reasons whether the following transactions result in the increase or

decrease of working capital or do not affect the working capital :

a) Plant & Machinery purchased for cash Rs. 2,00,000.

b) Issued shares Rs. 2,00,000

c) Redemption of debentures Rs. 20,000.

d) Discbunt on issue of debentures written off Rs. 12,000.

e) Debtors accepted bills receivable Rs. 3,000.

f) Fixed assets sold worth Rs. 32,000
g) Pre paid insurance Rs. 5,000

h) Dividend paid Rs. 10,000

i) Interest received Rs. 2,300.

j) Purchased stock Rs. 6,250
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12. The following are the summarized Trading A/c and Profit & Loss A/c and Balance
Sheet of Shekar Ltd. for the ended 31-12-2013.

Trading and Profit & Loss Account for the year ended 31-12-2013

Amount (Rs.)
To opening stock . | 1,20,000 By closing stock
To purchases 3,80,000 By Sales
To Gross profit 1,80,000
| - 6,80,000
To General expenses - 40,000 By Gross profit
To Sellingexpenses - 20,000 - Iéy Rent received
Tolncome Tax 30,000
To Net profit 95,000
1,85,000
Balance Sheet as on 31-12-2013
Liabilities "~ Amount  Assets
Rs. :
Share capital 3,00,000 Fixed Assets
General Reserve 60,000 Investments
Profit & Loss a/c 1,10,000 Stock
Creditors 80,000 Debtors
Bills payable 20,000 Cash
- 5,70,000

Amount (Rs.)
80,000
6,00,000

6,80,000
1,80,000
5,000

1,85,000

Amount
Rs.

1,70,000
1,00,000
80,000
1,60,000
60,000
5,70,000

Compute : Current ratio; Acid test ratio : Stock turnover ratio : Debtors turnover

ratio; Creditors turno{fef ratio; Gross profit ratio; Net profit ratio.
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13. Balance Sheets of N Lid.

Liabilities 2012 2013 Assets 2012 2013

Rs. Rs. Rs. Rs.
| Share capital 4,60,000 4,60,000 Land& Building 3,00,000 3,00,000

|

| Profit & Loss A/c 32,000 46,000 Machinery 1,04,000 1,40,000
Reserves 1,20,000 1,20,000 Shortterminvestments 2,20,000 1,48,000
Debentures 1,80,000 1,40,000 Stock 1,64,000 2,12,000
Depreciationfund 80,000 88,000 Debtors 1,34,000 86,000
Creditors 2,06,000 1,92,000 Cash 1,80,000 1,76,000
Outstanding Exps. 26,000 24,000 Prepaid exps. 2,000 8,000
11,04,000 10,70,000 11,04,00010,70,000

Additional Information :
a) 10% dividend was paid during the year.
b) Machinery for Rs. 60,000 was purchased.

c) Old machinery costing Rs. 24,000 was sold for Rs. 20,000

Prepare Cash Flow Statement (In Direct Method)
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14. The profit of a company is declining year after year. You as a management
accountant draft a report to the management exploring the reasons for the

declining profits and suggesting corrective measures.

1. cdnx)Ee10 voz DINOR LB, B3 VT T2 90BN, (2x10=20)
a) JF B S, BOBRETT OIRYTIe TR NTEBNTS), SVR.
b) oz, DFeweS omBed ?
C) Tea5oRd B, TBTI IR Te DO QOENIRO, WD
d) &oz® BeRES 0rseR 9
€) TR DFERFBOD HOBO MOLANIRY TEISRE.
f) =B OB DeR.
9) DB WS Ted POTTED ?
h) SR B8R Ted DoTBeRd ?
) BRI T|0ed 20TBeR0 ?

j) 2s0m> Rofosd eo3 Be. 25%, Rnoa B, 1,00,000, [00ks FOBME BSERY

FOT30&EB000.




R 9- MS - 419
k) ﬁ.%o o223 3. 1,60,000; ASFwEe0 dzimﬁo - dn. 50,000; 3ort - de. 10,000;
2IROF3 ID-TR. 2,50,000. BRDeET Y @’\%@’e)d@{ SR

1) BRo3 BRee 2.5; &5, Foed, e 1.5; tomsd de. 1,50,000, d$ dom
WOBTY SR

QPN - W
o3RFe5 TINr wugor. T3 B3nend 90BN, (5%5=25)

2. MR, I STODH TeIdR) FUIROR,

DS 2012 2013

35 35,
R0o083 1,00,000 150,000
RIPoOL BCINEBS 60,000 75,000
IS 3, 15,000 22,500
RnooK 34, 10,000 17,500
AR P ooy 15,000 35,000

3. ATFTD STEES dﬁmﬁa =03 BEFTIRD ejﬁma; 3 &S 20T :38:532@’535% 230000.
4. ATFEE SRS STTAT OINFYTIITTR WO QIENTI), RogTEoN D[OR.
5. QO dedod @e@gﬁ%ﬁ@@t #o:}@fmh DTIOR.

6. B3 FOOCH PTBT AR ?
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7. 3R ﬁra%dod @R :o@i_g BWLIO 3@_:"3&9053 Spld uodmeéd@ﬁ LVOEITI WRERTTH 3@%

IR SOIROR.

monRend  31-3-13 31-3-14

an. 3.
WORY 80,000 85,000
o3 33, 2008 14,500 24,500
ORD 9,000 5,000
ioeny - 5,000

1,03,500 1,19,500

s 31-3-13
3.

00 23) BearEnet 50,000

oo3ReRITIND 24,000

SRR 9,000
aoe87ed 16,500
3,083, BNeH 4,000

1,03,500

8. &3 eoh Dok eotd IF, 208 B4 39 Bnesss

213 83, 2708 w03 Rom S=r 31-12-2013

DTN Re2

on.
SlelolNZADADIS - 2,00,000
0eR 12,00,000

SEYS ﬁ""ﬁ, 1,20,000

QTR 303
.
SR 16,00,000

BN TR 3,20,000

@ntivnle:] . 4,000

31-3-14
oR.

50,000
34,000
7,000
19,500
9,000

1,19,500
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RT3 ﬁe:?; 80,000
SO 3, 40,000
) BROWE eS IR, 4,000
AR ooty 2,80,000

19,24,000

K50

19,24,000
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SIS 503, WOBWRER, SRTLS TOTI0E, BOFT aﬂz'g’d TORIVED 2B TWIRTE ROBMNY

e3e3 Bo=R eaﬁeﬁag FOTBIEROD.

9. 33 3PN VBSNPeT BEsTOR BEVTWLENPOT SNAS NPT, S :

QTN
ReTONEG RoLsT

@300 N Aowdd

T30 FedonY DB
2080603V DOED
TRRFCD ST
CRLDODT TOwS

TES W

239,05° TOOTI BO0ITTVRS

S03(35)
4,00,000

2,50,000

50,000

45,000

23,000

22,500

3,200

15,000
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RRTEIR ReT FIMer L0Z0R. BITI15 sosried.

AT
BRBMOFNLL 2012 2013

gp. BN,
e:stt’%,é &Rt o 1,20,000 1,80,000
ad, &Redd womees 1,50,000 4,00,000
ODIAERES E\')‘@’Jmé’ 14,000 18,000
@em%d@ m© 1,115,000 1,30,000
BRBICHT Wer 2000 -
wriznoD Aeemedd> 12,000 4,000
BRI SR 22,000 10,000

TR S0 10,000 90,000

4,45,000 8,32,000

Iéé‘jm*o 2012

o,
TR TONR fé&ﬁ 80,000
R0 R 0B easesearisd 3,34,000

o) pir-

a'aa:%@é BRBINGD 1,000
R 10,000
TRE RO 4,000
sy SHegied 1,000
JINT TR ¥IR,08° 8,000
BB SR 7,000
4,45,000

B WU Det ) BoIROR T DRBFA0.

(3x15=45)

10. RoBpex OREIE e BB KEWD 31-12-2012 8 31-12-2013 33 350r03

2013
.

1,23,000
6,00,000
40,000
25,000
8,000
2,000
30,000
4,000

8,32,000

BN TN TOOIFFO uozém@da’g{ émwﬁzb@dme, BBDCINRNROJY TR 950
WBLDBFHOIRNO DQTPE RO FITEING R&Z EVR.

) M0 T8y o eTEoNER) SHONY, DOCARETS de. 2,00,000.

b) ﬁ@&ﬁﬁ@taedmﬁcﬁ aw. 2,00,000.

c) Bsoecons orekS B, 20,000
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d) &JoBone wrﬁ\ O3S 3230 T, 12,000.

e) AOMOTTO ;‘%egé WONYRV 2,TOATT 8. 3,000.
i l3g) X 3 @

f) A8 &PT esyob RRoeLs on. 32,000

g) & Beo BorionR) IEENE 8. 5,000.

h) eoyR03 T@e dr. 10,000

i) @edes g 3. 2,300.

j) TomRRd &0ed 8. 6,250

Be80° O sWTT 098, T B TR 008 0B SR~ WL TN OB
31-12-2013 S0 33 3$930B028 2B :

$eon® w3 ooy ) 37, 279331-12-2013 o3 RRoB R

=»3(3k.) BR2(S.)
STOE TR 1,20,000 B0FYOIT TIWARRO 80,000
006D | A 3,80,000 RRTHW 6,00,000
Zi%@ @pih 1,80,000

6,80,000 6,80,000
AOBRT ﬁziﬁ%?o 40,000 ﬁfa@@ SPYA] 1,80,000
TRTE SO 20,000 DR RN 5,000
SO 3on 30,000
AT o3 95,000

1,85,000 1,85,000
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WINLIO 0B SN0 31-12-2013 Somd

SEEIADIS S8 (S.) BN B2 (35.)

2030 LORY 3,00,000 %m@ﬁeﬁo 1,70,000

KOS ORE 60,000  BIF,0, 1,00,000

3 303 IF, 8598 1,10,000 M 80,000

OTISO 80,000 FPOMTL 1,60,000

BRTLIETTD WeF 20,000  In 60,000

5,70,000 5,70,000

BORBROND | BRIS TR : B3 TOE TIIED, AP BT WL AT
BeoETEI BRI O BT FRNED; AL T3 BRed: I & €I BIIER.

N Ltd. %0230 s:bé_ap Qﬁéﬁ%ﬁ w%

WETRLTO 2012 2013 ENES 2012 2013
ge. 3. 3s. . 3A.
e L0@TY 460,000 4,60,000 z@deR> TIRR B 3,00,000 3,00,000

GRIAEAEY 533&1} 0593 32,000 46,000 o3dcdReREeaNEd 1,04,000 1,40,000

o= § 1,20,000 1,20,000 @U%d@ TR 2,20,000 1,48,000
RIRo e =y 1,80,000 1,40,000 TR 1,64,000 2,12,000
TP Q) 80,000 88,000 APOMOTTD 1,34,000 86,000
OISO 2,06,000 1,92,000 IO 1,80,000 1,76,000
dod@%‘g{é d?,iﬁ@i) 26,000 24,000 &FTecE d?:s;ﬁeﬁo 2,000 - 8,000

11,04,000 10,70,000 11,04,000 10,70,000
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B30 Bded:
a) 10% <2308 SRF B, ok evciad
b) oo eidceans D0k Tr. 60,000.

c) YD cDog, de. 24,000, (In Direct method) S, 20,000 ST,
SNED BOBHEOD BOIROR.

14. 20003 BOTIOD @03 SRFT TOBT [HFE, QYO0 200 ATF B TR0 BN
BOROZDGTIR LT, TITEINTR, TOZRTS 083 FOTERAOE BRNTR, ARLIRIT 20T
R BB OO 2TOW0.




